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[HETICTIE 19531 ®1 €T79a® 96T 371 37T GIcT7 Il :

(1)
(i)
(111)

(iv)

(v)

(Vi)
(vil)

3G Y97-97 H 33 Y97 & | T J97 FaTH & |
T8 JI7-97 Giel @V H [JY957 8 - @Ug &, &, T, TG &F |
EUE & - Yo7 G&I1 1 8 16 TF Fgldhc9id IR & 97 & | I9% Jo7 1 3% P

& |/

GUE & - J97 &7 17 T 21 7% 317 TG-F70T TR & 97 & | IdF Jo7 2 37|
H & |

TUE - §97 G&IT 22 T 28 T TY-FR1T JHR & Jo7 8 | J4% 97 3 371 HT & |
U T FI7 G&IT 29 TIT 30 FG-3TRT 97 & | TP o7 4 37H FT 5 /

GUE & Y97 &7 31 & 33 TS-F1T YR & 97 &8 | I J97 5 37h] HT & /

(viii) Y¥7-97 H GHY fabcq 781 1397 737 8 | JEf9, @vg & & Ifaike 3= gyl @vsl &

F Y91 4 AR 1dbcq HT T97 1397 T & |

(ix) &I G 1 gieanea qieter & o7e 37T J97-97 & |
(x)  @ogpcicd H ITIIT Ffdd & |
WUE &
T97 G&IT 1 & 16 T%F Fglahcdid JHR & 1 37 & Jo7 & | 16 x1=16
1. Tt SuggEaeA diffes | HHfaiRgd Tofies @ § &H9-91 99 GHEIadl el
gehdl & ?
(A) NHj B)  SO;"
(C) NOj D)  Cy04”
2.  ¥%d NiCly . 4NH3% 1 A § AgNO4 faa=m e S @ AgCl & &1 Jid
f4fHd 8T | ¥pd H Ni bl Tgdlaes SISTeRdT 811
(A) 4 (B) 2
(C) 3 (D) 6
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(it)
(i1i)
(iv)
(v)
(Vi)
(vii)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

There 1s no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each. 16X 1=16
1. Which of the following ligands can show linkage i1somerism i1n a
coordination compound ?
(A) NHj B) SO,
(C) NO, D)  Cy05"
2. On adding AgNOg3 solution to 1 mole of complex NiCly . 4NHg, two moles
of AgCl are formed. The secondary valency of Ni in the complex will be :
(A) 4 (B) 2
(C) 3 (D) 6
56/3/2-13 3 VPR PR e I R P.T.O.

o
gcollegedunlaa
India’s largest Student Review Platform

-



3.  TshHUl a7 STEM! ° WL &1 oid & HIifh
(A) 37h GHN SoIa(-eh G-I BId &

(B) 3eh! UM UM T-Aedt Bl &

(C)  ITeh! THM SATdIehl SATEATT Bl 8

(D) 37eh WM GHH YTATY] 37T (|1EH) Bid &

4, THIRgd ATHHAT W =R hiU
CH .
D/ : Bro, TSI SehTel

?

ITH Y& 39S B

CH, CHj
v [ e
(A) = (B)
© [ ] (D) /|:|/

Br

o, PR, o B

5.  ToefctRaa Jifeht o @ fohaent pK, U 3=dq & ?

(A)  p- b
(B) m- hFTA
(C) p-shiEld

(D)  2,4,6-2BT8eh M

6. CgHs— O — CHgohl HI @19 3if¥4ehd fobt ST W gan 2
(A) CgHs-1+ CH3- OH
(B) CgHs—OH + CHg-1
(C) CgHs - OH + CH3— OH

(D) CGH5 — I+ CH3 —1
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Transition elements form alloys easily because they have :
(A)  same electronic configuration

(B) same enthalpies of atomisation

(C) same oxidation states

(D)  nearly the same atomic size

4, Consider the following reaction :

CHy |
| I I'o, UV llght o
—— ]

The major product obtained 1is :

CHq
o [T

Br

5. Which one of the following compounds has the highest pK, value ?

(A)  p-Nitrophenol

(B) m-Nitrophenol

(C)  p-Cresol

(D)  2,4,6-Trinitrophenol

6. CgHz — O — CH3 when treated with HI gives :
(A) CgHz—-1+ CHg- OH
(B) CgHs—-OH + CHg—-1
(C) CgHz—-OH + CH3 - OH
(D) CgHs—-1+ CHg-1
56/3/2-13 5 TP Ol Yy P.T.O.
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fefetitgd ARl § 8 HIH-H1 dwsfl9 HebhiHa FaREe & 1 AWk

-3 34T a-TdT & 2

(A) (CHg)sN
(B) (CHg)oNH
(C) CH3CH9NH,

(D) CgHs;NH,

8. TamfcifRgd vHi<i § ¥ hiH-HT HifacTuHA 7f9fshaT 2a1 8 2

(A) CoHzNH,

(B)  (CoHg)oNH

9. Torg faerfum <61 sft o wror “afy 31=edar’ gidl 2 2
(A) B (B) C
(C) K (D) A

10. forel foem X0 1 1% faetam G| (WIeR ge9WH = 342 g mol ™) & 6% faen
o 91y FHITER! 8 | o X T Hioi ¢oIHH B

(A) 342 g mol
(B) b57¢g mol
(C) 114 g mol™*

(D) 342 g mol ™’
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Which of the following compounds on treatment with benzene sulphonyl
choride forms product insoluble in alkali ?

(A) (CHg)gN
(B) (CHg)oNH
(C) CH3CHoNH,

(D) CgHsNH,

8. Which of the following amines gives carbylamine reaction ?

(A) CoHsNH,

(B)  (CoHg)oNH

9. ‘Night-Blindness’ is caused by the deficiency of Vitamin :
(A) B (B) C

(C) K (D) A

10. A 1% solution of solute X’ 1s 1sotonic with a 6% solution of sucrose (molar

mass = 342 g mol™1). The molar mass of solute X’ is :
(A) 342 g mol*

(B) 57 gmol_1

(C) 114 g mol™}

(D) 3-42 g mol ™}

56/3/2-13 7 WD G e Y ey P.T.O.
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11.  Topel SAfufshan 4 sAfYrepres shl YRR digdl @M1 i W HY-3Y G0 E Edl

12. fr=fafea & @ -4 fgdias o 2 2
(A) Ik T
(B) IS 4™ U
(C) HR{ 9d
(D) A HA

Uy7 G&AT 13 @ 16 & 70, 31 %97 30 10 § — (G97 0% &1 997 (A) 9T
g &1 FRUT (R) GRT 3leba @31 7471 & | 37 T941 & @g1 3¢ A<l 137 77 &ist
(A), (B), (C) 3R (D) & @ g7 T /

(A)  IAMHRIA (A) 3R RO (R) gHI Fal @ IR SR (R), W6 (A) !

gl SITEAT Hdl 2 |

(B) 3P (A) AR HRU (R) gHI T&T 7, Tq SR (R), 3R (A)
g8l SIS g7 Ll & |

(C) AP YH (A) F&l 8, T rvl (R) 7Ted 2 |

(D) 3% (A) TTAd &, 9Gq HRU (R) ¥&l 2 |
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When the initial concentration of a reactant is doubled in the reaction,
the half life period remains same. The order of reaction 1s :

(A) First
(B) Second
(C) Zero

1
(D) %

12. Which of the following is a secondary cell ?
(A) Dry cell
(B) Lead storage cell
(C) Mercury cell

(D) Danaiell cell

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) i1s not

the correct explanation of the Assertion (A).
(C)  Assertion (A) 1s true, but Reason (R) 1s false.

(D) Assertion (A) i1s false, but Reason (R) 1s true.
56/3/2-13 9 YA AN e VAT P.T.O.
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;IR 9o o U AfyerH 3R AfyeoV I 81 & |
ey faema #  fooyfaaEs IA==IfhA, 2

[Iaeh-faa@es IRl AR g Taor
IAATHATT o A &l gicl & |

¥
I

14. 371997 (A) : qM H gig o 1Y ANshAT 971 | gig gIel 7 |
SRU(R): M H gig b @19 THTE Tl hl T&A H Jig Bl g |
15. 379FY7 (A) : SEHIYA 32 I ol H UIATA ol Fd9HTh I=al gidl & |
FRU(R):  SIZHIUA ST & 39] BEgISH U ¢RI Heg 8id @ |
16. 3719%HY (A) : UM HiSal-h1ded AHThHAT Hidl & |
FRU(R):  Shisd-sh19cd ITUThHAT H UM, T5d 370 AlClg o A1 a0
FqTdT & |
WYis d
17. TH=fcIRad = €19 ohld i ATHIHAT e 9% 1=2
(%) HoN-OH
(-@) BI‘2 S{q
18. Tomforiga v THTsh13l sl qUi Ud Hdficid shilay : 9% 1=2
(%) KMnO; ——
(@) 2MnO; + 5Co0; + 16H" —
19. (%) HiAA 3TaH e ol giTivg hifsu | I8 o9 et & fohd IR
qaed g 2 9
HAAT
(@) T TR UHeH e gro ford TehR o1 fogers @1t Srar 8 2 SR
Ao | 59 faae 9 vl TR &1 feraaredt fagor fafdq grar g 2 2
56/3/2-13 10 WM
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Assertion (A) : ApixH and A,V are zero for non-ideal solutions.

Reason (R):  Solute-solvent interactions are not same as pure

solute-solute and pure solvent-solvent interactions in
non-ideal solutions.

14. Assertion (A) : Rate of reaction increases with increase in temperature.
Reason (R): Number of effective collisions increase with increase in
temperature.
15. Assertion (A): The boiling point of ethanol is higher than that of
dimethyl ether.
Reason (R): Dimethyl ether molecules are associated through
hydrogen bonding.
16. Assertion (A): Aniline undergoes Friedel-Crafts reaction.
Reason (R): Aniline forms salt with AICl3, the Lewis acid in
Friedel-Crafts reaction.
SECTION B
17. Write the reactions of glucose with : 2x1=2
(a) H2N — OH
(b)  Bry water
18. Complete and balance the following chemical equations : 2X1=2
(a) KMnO, oea >
(b)  2MnOj + 5C,0; + 16H' —
19. (a) Define molal depression constant. How is it related to enthalpy of
fusion ? z
OR
(b)  What type of deviation is shown by ethanol and acetone mixture ?
Give reason. What type of azeotropic mixture is formed by that
deviation ? 2
56/3/2-13 11 W AN e N Ay P.T.O.
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21.

22,

(%) THACIRGd I T § HF-H1 gadiod Aep Syl AR § digar 9
JTYTShAT BT AR =T ?

o
CH3—(IJH—CH3 #o1 CHj - C-Br

(@) AR~ 1 fgga Aol Arsaciafrded Feiiliss @l da-l H &

gldT 8 ? 1+1=2
() Terell 3Tiyfsham ¥, Ifq ATHHRS X’ sl Figal diH THT L & Il |, dl
Y TShAT o TARH AT &1 SITal @ | ATUTshaT hi ife 1 8 2
(@) U gifeyfd sase f9ad i fgeArivaess 31iwfshan Tidehd: JoH <hife <hl
3TIThaT BIdt B | UE ATYThaT oh1 Teh 3218001 I | 1+1=2
Que T
frerferaa sifufrastt # A, B ofit ¢ 61 draant dftr - 2x1% =3

0°C
NO,
HCI CeH-OH
273 K
23. AT MHETARGd ®YAL0T fohd JohR Fad il ? (s A7) 3x1=3

(F) w=IIgh A U A [cSaIES
(@) UIIA & T

()  UHRIGHH o d=igeh 3TF
(=) =4 § 1-hHeueHd
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(a) Which halogen compound in the following pair will react faster in
Sn 1 reaction and why ?

=
CHz-CH-CH; or CHy-C-Br
Br CH3

(b)  Why 1s the dipole moment of chlorobenzene lower than that of
cyclohexyl chloride ? 1+1=2

21. (a) In a reaction, if the concentration of reactant ‘X’ is tripled, the rate
of reaction becomes twenty-seven times. What is the order of the
reaction ?

(b)  State a condition under which a bimolecular reaction is kinetically

a first-order reaction. Give an example of such a reaction. 1+1=2
SECTION C
22. Give the structures of A, B and C in the following reactions : 21 é =3
()  CHaCH,Cl — 5 A i % C
NO,

NaNO HCI CeH-OH
b) @ Fe/HCI A alNUg + 6115

—— s B — C
273 K

23. How will you bring about the following conversions ? (any three) 3IxI=3
(a) Benzoic acid to Benzaldehyde
(b) Ethanal to Propanone
(c) Acetophenone to Benzoic acid

(d) Bromobenzene to 1-Phenylethanol
56/3/2-13 13 RN AN SN Yl P.T.O.
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25.

20.

27.

28.

(%) Trafafga sififsranett @ aftafaa wfieor fafey
1)  TEH-EET TRl
(i) hiod 37fHfshRan

b

(@) HHIA o FHA H 2,4,6-2BAMEBHIG 91 H Ttk 3T19ehHeh 1 -H
AT | 2+1=3

Tsh YU hile <hl TUTHAT I 25% YOI B H 40 T &d 8 | 97 T[T 1

O qiehierd shifere | fohad T@a | 98 tfufsham 80% ot Bt ? 3
[feam 71 2 : log 2 = 0-30, log 3 = 0-48, log 4 = 0-60, log 5 = 0-69]

(%) 2FHSIA & AA-ATTH H (+)-YA-2-3ATd o+ H foha YR
AT I (Sy1 AYET Sy2) Bt 8 ? IR T |

(@) o1 BT 8 99 FAiid-si- 3T HIYS FANSS sl I6h 3L H FlTsIT 91
o WY ¥ehd fohaT ATaT 8 ? 2+1=3

0-2 M KC1 faera= hl =aretehdl 248 x 102 S em L & | 29! Tl ATeTehdl 3N
IS AT (o ) Uiehfard shifsu | 3
T T 8

20, =358 cm® mol ™!

2° =765 S cm” mol ™
Cl

[

200 ¢ 9 § fordl qamsqsficd foeid & 5 g ol =i faetdd s9/™T /=0 |

300 K T 35T a9 €1d 31-84 mm Hg 8 | ™ &1 Aok geam™ gfiehiad

1T | 3

(300 K W 3[g STA =hT 919 qId = 32 mm Hg)
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24. (a) Write the reactions involved in the following :
(1) Reimer-Tiemann reaction

(11) Kolbe’s reaction

(b) Name the reagent used in the bromination of phenol to form
2,4,6-Tribromophenol. 2+1=3

25. A first-order reaction is 25% complete in 40 minutes. Calculate the value
of rate constant. In what time will the reaction be 80% complete ? 3

[Given : log 2 = 0-30, log 3 = 0-48, log 4 = 0-60, log 5 = 0-69]

26. (a) What type of nucleophilic substitution (Sy1 or Sy2) occurs in the

hydrolysis of 2-Bromobutane to form (+)-Butan-2-ol ? Give reason.

(b) What happens when chlorobenzene and methyl chloride are

treated with sodium metal in dry ether ? 2+1=3

27. The conductivity of 0-:2 M solution of KCl 1s 2:48 x 1072 S em™ . Calculate
1ts molar conductivity and degree of dissociation (& ). 3

Given :

20, =T358 cm? mol ™!

2°  =765S em”mol
Cl

28. A solution is prepared by dissolving 5 g of a non-volatile solute in 200 g of

water. It has a vapour pressure of 31:-84 mm Hg at 300 K. Calculate the

molar mass of the solute. 3

(Vapour pressure of pure water at 300 K = 32 mm Hg)

56/3/2-13 15 Ty P.T.O.
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Lls Y

HETICTIGT T4 - STGIRT F97 & | 4 &1 &J-9d% GIeT 3R 180 7T F941 & IR FI1erT |

29, UIEH Sa-dd H Hallees 91U S aTdl oid 39 & | e T si| 199 o-THHE

IFAl o ST BId @ I 3T9Y H ULTES e g’ I &id & | gH UHH 37Fd
AT UHHT 3T healld & | [sael = €9 H, THAT 377 IWIgH Jehfd

TIMd & FAIeh o 3TFA] U &ehl 2l b T1Y TTYThAT &hid 8 |

HT(UTeh I o SMYR T IEHT bl g I H FfTehd TohAT SITAT B : LIGR I
TfeTehTehR TIEH | TIEHT shl ST TS AR Rl ALIIT =R T4 TqU 9T foma

ST Ehdl B : WA, fgdiaeh, qdie Td aqsh SEHT | Yo &) qd &) <hl
do1 | 3ifues Jied Bia1 g | pH YT a9 § 9iEdd | ST i Tgdiaes =
qciaeh TTEATE TS 81 AT 8 3R 794 Yohr i H H&M a8l &d | 39 IIEH
1 {IhdIhL0 Had 7 |

() ATEATIS UHHI 3T+ o1 BId & ? 1
(@) U 3l o feaet smafaes &9 4 = Afum 2 2 1
(M) (1) WER IEH a7 MiTshehR IIdH ol Teh-Ush 38180 aIaT |
(i) I o TehoTohl bl fhd YT 1 ¢ IS TIdT g ? 2x1=2
HAAT

(M) (1) T8 HH-A TS [JiErsedr 8 T IR IR o ATTAI i
quidl & ?

(i) FANNEES R F[FAACES H FIT TLEACHSD A gl @ ? 2x1=2
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Proteins are the most abundant biomolecules of the living system.
Proteins are the polymers of about twenty different a-amino acids which
are linked by peptide bonds. Ten amino acids are called essential amino
acids. In zwitter 1onic form, amino acids show amphoteric behaviour as

they react both with acids and bases.

On the basis of their molecular shape, proteins are classified into two
types : Fibrous and Globular proteins. Structure and shape of proteins can
be studied at four different levels 1.e., primary, secondary, tertiary and
quaternary, each level being more complex than the previous one. The
secondary or tertiary structure of proteins get disturbed on change of pH
or temperature and they are not able to perform their functions. This is

called denaturation of proteins.

Answer the following questions :
(a) What are essential amino acids ? 1
(b)  What 1s meant by zwitter 1onic form of amino acids ? 1

(¢c) (1) Give one example each for Fibrous protein and Globular

protein.

(1) What type of linkages hold monomers of proteins together ? 2x1=2

OR

(¢c) (1) What 1s the structural feature which characterises a reducing

sugar ?

(11) What 1s the structural difference between nucleoside and

nucleotide ? 2x1=2

56/3/2-13 17 PRl A P.T.O.
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30. YA qdi h TIUE b TqH H (n—1)d SAAFCHI hl ATNERI 4 adl ol B

[af3TSe 07 YgH AT B | 3TA: UiEdl STl AaEdTAl & Ifdih dshHu

™ [

TqU TR T[0T A IcUTh T[T RIAT & qT Wi 3 §HH shl Y9 d1g

~

ST 8 | TshAY 4TqU g ® AUGHT, S TElSH, A5 AT gl 9

JTfshaT it 8 | KMnO, 31K K,Cry0O- $eh T 3GEW & |

ATATh HshHUT dwdl ohl 2l AT A-AATIe dYUT UldeAide 3Tad TNl & f-scileh

N

hl THET HLdl & | AAFIS] H 4fh&HR b FoldgHl b YU GRS YT

(imperfect shielding effect) s hTUT GHIY[ 3HHTH H dlg o HT1Y YLHTY ITHY

T shitieh BT8 BT 2 T8k SR M= BIaT B |
() ThHUT GTqU qAT 3eh ATk 37T I hl HIfd FT DA HLd & ? 1
(@) -AATISl | GHY] 3T (size) H Thad 1 AT HRU & ? 1

(1) <-ATIE ATHad Wl IRYING HINT | I8 qag Fshror gufl wa fgdi™
ThHYT UM hl RHTY] TS bl fohe TehR JHTIod hidl & ? 2

HAT

(1) el mem ®, Cr'' S19aT Feot # ¥ $H-O1 Yol U9 & M 2 2
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30. The involvement of (n — 1)d electrons in the behaviour of transition
elements impart certain distinct characteristics to these elements. Thus,
in addition to variable oxidation states, they exhibit paramagnetic
behaviour, catalytic properties and tendency for the formation of coloured

ions. The transition metals react with a number of non-metals like

oxygen, nitrogen and halogens. KMnO, and KyCry0O; are common

examples.

The two series of inner transition elements, lanthanoids and actinoids,
constitute the f-block of the periodic table. In the lanthanoids, there 1s
regular decrease in atomic size with increase in atomic number due to the

imperfect shielding effect of 4f-orbital electrons which causes contraction.

Answer the following questions :

(a) Why do transition metals and their compounds act as good

catalysts ? 1
(b) What i1s the cause of contraction in the atomic size of lanthanoids ? 1

(c) Define lanthanoid contraction. How does it affect the atomic radii of

the third transition series and the second transition series ? 2

OR

(c) In aqueous media, which is a stronger reducing agent —

Cr?* or Fe** and why ? 2

56/3/2-13 19 I Ny P.T.O.
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31. ﬁH%T@Hﬁ@[WﬁW%W%ﬁE@ 5x1=5

(%) TP [Co(Hy0)(CN)(en)ol* &1 IUPAC 9 foiflgu |

(@) o D dobal S0 3I 19 TR o Tehadl Tolf=8 shegld 1q AT
H IS 8, SAMHA SHIEIEdl &= 999 &l ardl ?

() F=faigd g5 AT Sl IR Tohted &3 faared 3l (A,) o S@d §U
shH U IfEd hIfTU -
[Co(NHs)g]3*, [CoFgl®~, [Co(CN)g]3

(°I) HAShal AEY WG % JAUR W HbdA [Ni(CO)y,] o ThUl Td
FIhI GG ol TRy |
[Ni T YTHTY] ShHTeh = 28]

() [CoFgl®™ 3 [Co(Cy0,)5]® Tt | H HI9-81 Thed
(i)  3ieeh TUr g ?

(i) 3= TIhUT TheA & 2

(=) 3I9Fel foTrg 3R Tgeqt fores o o 3tat 8 ?

(B) oTeHhaThT &F H d° I TagIS [T to, 3T e, o Ual # forfiay
e
i) A,>P, 3 (i) A, <P
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SECTION E

31. Attempt any five of the following : S xX1=b

(a) Write the IUPAC name of the complex :
[Co(Hy0)(CN)(en)ol**

(b) Why is geometrical isomerism not possible in tetrahedral complexes
having two different types of unidentate ligands coordinated with
the central metal ion ?

(c) Arrange the following complex ions in increasing order of their

crystal field splitting energy (A,) :
[Co(NH,)g]°*, [CoFgl®™, [Co(CN)gl°

(d) Write the hybridization and magnetic character of the complex
IN1(CO)4] on the basis of valence bond theory.

[Atomic No. : N1 = 28]

(e)  Out of [CoFgl° and [Co(C0,)3]°~, which one complex is :

(1) more stable ?

(11) the high spin complex ?

(f)  What 1s the difference between an ambidentate ligand and

bidentate ligand ?
(g) Write the electronic configuration of d° in terms of toy and ey 1n an
octahedral field when :
) A,=F, #nd ) A, <F
56/3/2-13 2 AR BRA T Y P.T.O.
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(F) (1) 25°C R FA=fcifgd Ba1 &1 f9.91. 9 (emf) IRehITd hHIFTT

7n (s) | Zn* 0-001M) | | cd®t (0.1 M) | Cd (s)
ﬁ?ﬂw%:E; —_ 076 V, E°

=—040V |log10=1
n?*/Zn cd2*/cd Log |

(ii) HUS o Taga-Tu=ed &l fgd ¥™ &dst | NaCl @& S faerH

%1 pH fohe YR ¥ JUTad EMT 519 $EehT fogld-3Tdeed fohaT STl

g ? 3+2=5

AT

(@) (1) TAfIRga ¥a AT o Tt A,G° 3R log K, TfehicTd <hifTT
Fe (s) + Ag+ (aq) = F62+(aq) + Ag (s)

O O
@Nmne:E , =-0M4V,E . =+080V

1 F = 96500 C mol

(i) wTafaer 3 fgdioes i@ &hi 319em S99 Ol o <hig e oy
TIRgU |

(iii) 19 HyO & O, H ATaHIhU o [T fohad HUS ATG9TH BT 2
3+1+1=5
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32. (a)
(b)
56/3/2-13

(1)

(i1)

(1)

(i)

(111)

Calculate emf of the following cell at 25°C :

7n (s) | Zn®t 0-001M) | | cd®t (0-1 M) | Cd (s)

Gi . E° -—-076V, E° ——040V [log10=1
iven o irs NP T [log |

State Faraday’s second law of electrolysis. How will the pH of

aqueous NaCl solution be affected when 1t i1s electrolysed ? 3+2=5

OR

Calculate the AI.GO and log K. for the following cell reaction :

Fe (s) + Ag+ (aq) = Fez+(aq) + Ag (s)

0O

: O
Given : E =- 044V, E ..

Fez+/Fe
1 F = 96500 C mol

=+ 080V,

Write any two advantages of the fuel cells over primary and

secondary batteries ?

How many Faradays are required for the oxidation of 1 mole
of HoO to O ? 3+1+1=5
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(@)

56/3/2-13

(1) TATTREd TTHATSN o T&T 3Ic4Tg Tl iay :

> ?

1) @/ CHoCHg a) KMnO, , KOH

b) H*

(2) @ CHO + CH; - C - CH,
H

Bro / FeBr
(3) @ S 25 9

dd NaOH

—)")

[

(i) T=fRga Jfee Frar ° faug e
B

o &

(2)  U=eAd 3T U=eH-3-3A

COCH,4

HAAT

i) T=faRad & fau sror g .

e QI

[0 O THHe gdeon

COCH,CH;

3+2=5

(1) HHESE H had Th — NH, T8 gl fat=d 1

wfraferd BT 8 |
(2) TUHICH i ol § UHdfeegEs
rfurfsparsficr gar 2 |

24
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(b)

56/3/2-13

(i)

(1)

Write the major product(s) in the following reactions :

CHoCHg a) KMnO, , KOH
v QT

@ ¢_)—CHO + CHz - C - CH; Lol Lt

|
O

Brs / FeBr
(3) @ — P

(Give simple chemical tests to distinguish between the
following pairs of compounds :

COCHj COCH,CHa

(1) @/ and @/

(2) Pentanal and Pentan-3-one 3+2=5

OR

(Give reasons for the following :

(1) In semicarbazide, only one — NHy group is involved in
the formation of semicarbazone.

(2) Acetaldehyde 1s more reactive than acetone towards
addition of HCN.

25 VAVAYAVNAVAVAVVAVAVAVVAVAVAVVAVAVAV Y AVAVAVIVAVAVAY, P.T_O.
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i) (1) T=fIRgd s 3k iy qmed o 9ed §U shH H Fa (e

[

IS
CH4COOH, O,N — CH, — COOH, HCOOH

(2) To=tataa stfafsean o feu sfierds =1 am fafee -

CH; - CH = CH - CHy— CN — ",

CH; - CH = CH — CH, — CHO

(iii) BA-BIATS-SATeTEeh! TYshaT H Ffmfera Tfyfshar faRgu | 242+1=5
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(11) (1) Arrange the following in decreasing order of their acidic
strength :

CH,;COOH, O,N - CH, - COOH, HCOOH

(2) Name the reagent in the following reaction :

CHy - CH=CH - CHy - CN — 7,

CH; - CH = CH — CH, — CHO

(111) Write the reaction involved in Hell-Volhard-Zelinsky reaction.
2+2+1=5
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